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4.3 Graphing Linear Equations
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Sketch the graph of each line.
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2)  y = -
3
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3)  y = 2x - 3
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4)  y = -x + 5
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6)  y = -7x - 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6



©Z _2E0A1i5h FKWuRtDaA dSaoCfVtMwoalrCeQ YLuLyCf.z a aAflYlp vrDiOgShkt^sU lroeKsse_rVvOe_du.G V `MWa^dLeC XwTistBhD _IdnHfPibn\iKtnek FARl\gveoberMau o1H.

Worksheet by Kuta Software LLC

-2-

Write the slope-intercept form of the equation of each line.

7)  x - 5y = -10 8)  6x - y = 10

Sketch the graph of each line.

9)  2x + y = 0
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10)  3x + 5y = -15
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11)  6x - y = 3
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12)  7x - 4y = -16
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